—

S = SPANTA ARCHMEDE
o

Ton Fran REso

wemal?

‘1?+-g-= O

>0

Sctea > So¥e

Se L CorP> B aeMPLETAMENTE

IMMERSS |/ -VF
Oc >g§, AFFonDA




TENDE A SALIRE WERSD (A
SUPERTF I A

o'
N
V)

ViMMerss = 90 ). Vowcgi%ﬁo 2



o E—

— — >
'7;(0.. +71fo+? 74@
- f

: CostowT .
i (v

T = Gam_«iﬂ(
;(‘; +-=-FP+-5, = O
() costoude

VEtoeora!
SEDIMEATAR ZIONE



eSS0 |/ 7 4
-4 2
éP‘ “+0 cw M=7—2*~'2) ‘%"70-'0 o =Oﬁo.l52

r4

MA
-~ F Ma 22 & - 1,8/ v/ 2
P S é.F 20 10-Y w2 (O -10 PQ.,E
= 0"y

(Jcm)i (/{o-z(m) Z= Lo "{M 2

Mo F2 & - 9,81 mf=
7 -2 - s M A R Y
D 1 TO



ESERCi2L 2
S=6Gw* M=% A,

-g 4

$ 5, el =

=T T S,

A . VE,
1_‘;;_.54_ ﬁ’.’-ﬁ’ =5z.
m’ﬁ"m’%,? Mo+ M = Mg, O
S, = g&-\{Mm?) o U;C\S : Sg 5‘923
™= S Shew, ™ = 9 Ohy - Me






fcg=%g
-7
A@-&-A%-)—AP- o
2
38(0%24_“8%4-& = fg—ga)"@ -l-%l% +@
hﬁ.‘lﬂgﬂfo
c?zv;, _ —5’(0,3

\&SANJA =&§fb(\y@ \Tc'\/‘(,A_ N;‘\ =\S([t; .(V'E,



Ny - Va = (*%)z A

KW‘%W’@ —> (V= QM4

- A +’:{2CS\<0),ZZ—NEZ)

%
(= 2%.10 B -0,63.10° @@*
= hﬂ--log Eo M}



D D
Texre
e ] EREMA i Toreics .
\

h V; £ 0
—1 h=f=B
?:E&o&‘-a-gshl-ka = %SN’ZQ_LM-&-%
Q= hz-O




>0
X

L!""—”-‘

AE‘;*‘AU-\-K a O

A 2
3 Mz - M*%-th

Vic0 hreo b=l
gl

VAR

v = 2

A0



